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àíZ nwpñVH$m
{df` H$moS>	 :	 71

{df`	 :	 dZñn{V {dkmZ

AZwH«$_m§H$ (A§H$mo§ _|) : 

AZwH«$_m§H$ (eãXm| _|) : ____________________________________________________

Aä`Wr© Ho$ hñVmja

     
H$j {ZarjH$ Ho$ hñVmja

g_` : 2 KÊQ>o	 nyUmªH$ : 200

narjm{W©`m| Ho$ {bE {ZX}e
	 1.	 Bg àíZ-nwpñVH$m _| Xmo ^mJ h¡§ & {OgHo$ àW_ ^mJ _| gm_mÝ` kmZ go gå~pÝYV Hw$b 30 àíZ h¢ & 
	 2.	 Bg àíZ-nwpñVH$m Ho$ {ÛVr` ^mJ _| d¡H$pënH$ {df` go gå~pÝYV Hw$b 70 àíZ h¢ &
	 3.	 Bg àíZ-nwpñVH$m _| 100 àíZm§e (àíZ) {XE JE h¢ & àË òH$ àíZm§e {hÝXr Am¡a A§J«oOr XmoZm| _| N>nm h¡ & àË òH$ àíZm§e Ho$ {bE Mma {dH$ën 

{XE JE h¢ & BZ_| go EH$ {dH$ën H$mo MwZ b|, {Ogo Amn CÎma nÌH$ na A§{H$V H$aZm MmhVo h¢ & `{X AmnH$mo Eogm bJo§ {H$ EH$ go A{YH$ 
{dH$ën ghr h¡§, Vmo Cg {dH$ën H$mo A§{H$V H$a| Omo AmnH$mo gdm}Îm_ bJo§ & àË òH$ àíZm§e Ho$ {bE Ho$db EH$ hr {dH$ën MwZZm h¡ &

	 4.	 narjm àmaå^ hmoZo Ho$ VwaÝV ~mX, Amn Bg àíZ-nw{ñVH$m H$s Om±M Adí` H$a b| {H$ Bg_| H$moB© {~Zm N>nm, H$Q>m ̀ m Ny>Q>m hþAm n¥ï> AWdm àíZm§e 
Am{X Z hmo &

	 5.	 Aä`Wu H$j {ZarjH$ Ûmam {ZX}e XoZo Ho$ CnamÝV hr àíZ-nwpñVH$m H$s grb Imob| &
	 6.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎma XoZo go nhbo àíZ-nwpñVH$m Ed§ CÎma nÌH$ Ho$ g^r AZwXoem| H$mo gmdYmZrnyd©H$ n‹T> b| &
	 7.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) na Aä`Wu AnZm AZwH«$_m§H$, {df`, àíZ-nÌ H$m ghr H$moS>, CÎm[aV àíZm| H$s g§»`m VWm AZwÎm[aV 

àíZm| H$s g§»`m ñdÀN>Vmnyd©H$ {bI| AÝ`Wm CÎma nÌH$ H$m _yë`m§H$Z Zht {H$`m Om`oJm Am¡a gånyU© {Oå_oXmar ñd`§ Aä`Wu H$s hmoJr & 
	 8.	 Aä`Wu ghr CÎma {Z{X©îQ> H$aVo hþE CZ_| go Ho$db EH$ Jmobo AWdm ~~b H$mo CÎma nÌH$ na H$mboo ~m°b ßdmB§Q> noZ go nyam Jham H$a X| & 

EH$ go A{YH$ CÎma XoZo H$s Xem _| CÎma H$mo JbV _mZm Om`oJm Ed§ Cgo Om±Mm Zht Om`oJm &
	 9.	 CÎma nÌH$ (Amo. E_. Ama. erQ>) _| EH$ ~ma Jmobm ^ao OmZo Ho$ ~mX Cg_| {H$gr ^r àH$ma H$m n[adV©Z Zht {H$`m Om`oJm &
	 10.	 Aä`Wu CÎma nÌH$ (Amo. E_. Ama. erQ>) H$mo {H$gr àH$ma Z _mo‹S>| &
	 11.	 AmnH$mo AnZo g^r CÎma Ho$db CÎma nÌH$ (Amo. E_. Ama. erQ>) na hr XoZo h¢ & narjm Ho$ Cnam§V CÎma nÌH$ (Amo. E_. Ama. erQ>) H$j 

{ZarjH$ H$mo bm¡Q>m X| &
	 12.	 `{X {hÝXr `m A§J«oOr {ddaU _| H$moB© {dg§J{V hmo, Vmo A§J«oOr {ddaU ApÝV_ _mZm OmEJm &
	 13.	 `{X H$moB© Aä`Wu AZw{MV gmYZ H$m à`moJ H$aVm h¡ `m CgH$m à`mg H$aVm h¡ AWdm narjm H$j _| {H$gr àH$ma H$m ì`dYmZ H$aVm h¡, 

Vmo dh narjm Ho$ {bE A`mo½` Kmo{fV H$a {X`m Om`oJm &
	 14.	 H$moB© ^r Aä`Wu narjm H$j go ~mha Zht Om`oJm O~ VH$ 120 {_ZQ> (Xmo KÊQ>o) nyao Z hmo J`o hmo &
	 15.	 H$moB© ^r a\$ H$m`©, `{X H$moB© hmo, Bg H$m`© hoVw {ZYm©[aV Imbr nÝZm| na hr {H$`m OmZm Mm{h`o & A{V[aŠV nÝZo Zht {X`o Om`o§Jo &
	 16.	 AnZm AZwH«$_m§H$ Am{X {bIZo Ho$ {bE VWm CÎma nÌH$ (Amo. E_. Ama. erQ>) na CÎmam| H$mo ^aZo Ho$ {bE Ho$db H$mbo ~m°b ßdmB§Q> noZ H$m à`moJ 

H$a| &

O~ VH$ AmnH$mo `h àíZ-nwpñVH$m ImobZo H$mo Z H$hm Om` V~ VH$ Z Imob| &
Note : The English version of the instructions is printed on the last page of this Question Booklet.
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	 1.	 _mM© 2025 _| gwZrVm {d{b`åg Ho$ gmW n¥Ïdr na bm¡Q>Zo dmbo A§V[aj `mÌr H$m Š`m Zm_ h¡ ?
	 (A)	{dŠQ>a ½bmoda	 (B)	 Ooao_r h¡ZgZ	 (C)	 Om°Z ½boZ	 (D)	 ~wM {db_moa

		  What is the name of the astronaut who returned to earth along with Sunita Williams  in March 2025 ?

	 (A)	 Victor Glover	 (B)	 Jeremy Hansen	 (C)	 John Glenn	 (D)	 Butch Wilmore

	 2.	 _mYd amîQ´>r` CÚmZ {Ogo ^maV H$m 58 dm§ ~mK A^`maÊ` Kmo{fV {H$`m J`m, {ZåZ{b{IV _| go {H$g amÁ` _| 
pñWV h¡ ?

	 (A)	_oKmb`	 (B)	 _Ü`àXoe	 (C)	 _{Unwa	 (D)	 _hmamîQ´>

		  Madhav National Park that was declared India’s 58th Tiger Reserve is situated in which of the following 
States ?

	 (A)	 Meghalaya	 (B)	 Madhya Pradesh	 (C)	 Manipur	 (D)	 Maharashtra

	 3.	 {ZåZ{b{IV _| go {H$ZH$mo 2024 _| "^maV aËZ' go gå_m{ZV {H$`m J`m ?
	 a.	E_. Eg. ñdm_rZmWZ
	 b.	Mm¡Yar MaU qgh
	 c.	H$ny©ar R>mHw$a
	 d.	ha_ZàrV qgh
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a	 (B)	 Ho$db a d b	 (C)	 Ho$db a, b d c	 (D)	 Ho$db a, b  d d

		  Who among the following has been awarded ‘Bharat Ratna’ in 2024 ?

	 a.	 M. S. Swaminathan

	 b.	 Chaudhary Charan Singh

	 c.	 Karpoori Thakur

	 d.	 Harmanpreet Singh

		  Choose the correct answer from the options given below :
	 (A)	 Only a	 (B)	 Only a and b	 (C)	 Only a, b and c	 (D)	 Only a, b and d

	 4.	 _hmXoB© dÝ`Ord A^`maÊ` {ZåZ{b{IV _| go {H$g amÁ` _| pñWV h¡ ?
	 (A)	_Ü`àXoe	 (B)	 CÎmaàXoe	 (C)	 N>ÎmrgJ‹T>	 (D)	 Jmodm

		  Mhadei Wildlife Sanctuary is located in which of the following states ?

	 (A)	 Madhya Pradesh	 (B)	 Uttar Pradesh	 (C)	 Chattisgarh	 (D)	 Goa

	 5.	 h_mao Xm±V H$m D$nar ^mJ H$R>moa BZo_b go T>H$m ahVm h¡ Omo _w»`V: ~Zm hmoVm h¡ 
	 (A)	H¡$pëe`_ H$m~m}ZoQ> H$m			   (B)	 _¡½Zr{e`_ \$mñ\o$Q> H$m
	 (C)	H¡$pëe`_ \$mñ\o$Q> H$m			   (D)	 H¡$pëe`_ Am°ŠgboQ> H$m

		  Our tooth crown remains capped with hard enamel which is principally made of 

	 (A)	 Calcium Carbonate			   (B)	 Magnesium Phosphate

	 (C)	 Calcium Phosphate			   (D)	 Calcium Oxalate

gm_mÝ` kmZ
General Knowledge
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	 6.	 EZ.B©.nr. 2020 Ho$ AZwgma _mÜ`{_H$ {dÚmb` {ejm Ho$ AÝVJ©V {H$Z H$jmAm| H$mo em{_b {H$`m J`m h¡ ?
	 (A)	H$jm 6 go H$jm 9			   (B)	 H$jm 4 go H$jm 6
	 (C)	H$jm 5 go H$jm 8			   (D)	 H$jm 6 go H$jm 8
	 	 Which classes are included in the middle school education according to NEP 2020 ?
	 (A)	 Class 6 to Class 9			   (B)	 Class 4 to Class 6
	 (C)	 Class 5 to Class 8			   (D)	 Class 6 to Class 8

	 7.	 {ZåZ{b{IV _| go {H$gZo g_J« {ejm H$s AdYmaUm H$m à{VnmXZ {H$`m Wm ?
	 (A)	lr Aaq~Xmo			   (B)	 ñdm_r X`mZÝX
	 (C)	ñdm_r {ddoH$mZÝX			   (D)	 Cn`w©ŠV _| go H$moB© Zht
		  Who among the following propounded the concept of Integral Education ?
	 (A)	 Sri Aurobindo			   (B)	 Swami Dayanand
	 (C)	 Swami Vivekanand			   (D)	 None of the above

	 8.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
		  gyMr – I		  gyMr – II
	 a.	 {ejH$ {ejm	 I.	 EZ.B©.nr. 2020 H$m AÜ`m` 23

	 b.	 àm¡Úmo{JH$s H$m Cn`moJ	 II.	 EZ.B©.nr. 2020 H$m AÜ`m` 20

	 c.	 ì`mdgm{`H$ {ejm 	 III.	 EZ.B©.nr. 2020 H$m AÜ`m` 21

	 d.	 àm¡‹T> {ejm	 IV.	 EZ.B©.nr. 2020 H$m AÜ`m` 15
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE :
		  Hy$Q> :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III

		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Teacher education	 I.	 Chapter 23 of NEP 2020
	 b.	 Technology use	 II.	 Chapter 20 of NEP 2020
	 c.	 Professional education	 III.	 Chapter 21 of NEP 2020
	 d.	 Adult education	 IV.	 Chapter 15 of NEP 2020

	 	 Choose the correct answer from  the code given below :
		  Code :
	 (A)	 a – IV, b – I, c – II, d – III			   (B)	 a – IV, b – I, c – III, d – II
	 (C)	 a – I, b – IV, c – III, d – II			   (D)	 a – I, b – IV, c – II, d – III

	 9.	 EZ.B©.nr. 2020 _| B©.gr.gr.B©. H$m AW© h¡ 
	 (A)	àma§{^H$ ~më`mdñWm H$s XoI^mb Am¡a {ejm	 (B)	 àma§{^H$ ~MnZ Ho$pÝÐV {ejm
	 (C)	~MnZ H$s CÞV {ejm Ed§ XoI^mb	 (D)	 ~MnZ H$s Hw$eb XoI^mb Ed§ {ejm

		  In NEP 2020, ECCE stands for 
	 (A)	 Early Childhood Care and Education	 (B)	 Early Childhood Centered Education
	 (C)	 Enhanced Childhood Caring and Education	 (D)	 Efficient Childhood Care and Education
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	 10.	 {ZåZ{b{IV _| go H$m¡Z EH$ ^maV _| amîQ´>r` _yë`m§H$Z Ed§ àË`m`Z n[afX (NAAC) H$m àmW{_H$ \$moH$g h¡ ?
	 (A)	N>mÌm| H$mo {dÎmr` ghm`Vm àXmZ H$aZm	 (B)	 {díd{dÚmb` àdoe narjm Am`mo{OV H$aZm
	 (C)	Cƒ {ejm g§ñWmZm| H$m àË`m`Z	 (D)	 g§ñWmZm| _| Q>çyeZ \$sg H$m {d{Z`_Z

		  Which one of the following is the primary focus of the National Assessment and Accreditation Council 

(NAAC) in India ?

	 (A)	 Providing financial aid to student	 (B)	 Conducting university entrance examinations

	 (C)	 Accreditation of higher education institutions	 (D)	 Regulating tuition fees in institutions 

	 11.	 Am{W©H$ {dH$mg Ho$ {bE PURA ÑpîQ>H$moU {ZåZ{b{IV _| go {H$gHo$ {X_mJ H$s CnO h¡ ?
	 (A)	_Z_mohZ qgh			   (B)	 E. nr. Oo. AãXþb H$bm_
	 (C)	A_Ë`© goZ			   (D)	 Cn`w©ŠV _| go H$moB© Zht

		  PURA approach to economic development is the brain child of who among the following ?

	 (A)	 Manmohan Singh			   (B)	 A. P. J. Abdul Kalam

	 (C)	 Amartya Sen			   (D)	 None of the above

	 12.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a| VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE &

	 gyMr – I 		  gyMr – II 

		  (amÁ`)		  (amîQ´>r` CÚmZ)

	 a.	amOñWmZ	 I.	 _mZg amîQ´>r` CÚmZ

	 b.	N>ÎmrgJ‹T>	 II.	 {nZ d¡br amîQ´>r` CÚmZ

	 c.	Ag_	 III.	 B§ÐmdVr amîQ´>r` CÚmZ

	 d.	{h_mMb àXoe	 IV.	 Ho$dbmXod amîQ´>r` CÚmZ

	 	 Hy$Q> :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		L  ist – I	L ist – II 
		  (State)		  (National Park)
	 a.	 Rajasthan	 I.	 Manas National Park

	 b.	 Chhattisgarh	 II.	 Pin valley National Park

	 c.	 Assam	 III.	 Indravati National Park

	 d.	 Himachal Pradesh	 IV.	 Keoladeo National Park

		  Code :

	 (A)	a – IV, b – III, c – II, d – I			  (B)	 a – IV, b – III, c – I, d – II

	 (C)	a – III, b – IV, c – I, d – II			  (D)	 a – III, b – IV, c – II, d – I
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	 13.	 [a`mo + 20 _ybV: {ZåZ{b{IV _| go {H$ggo gå~§{YV h¡ ?
	 (A)	Am{W©H$ {dH$mg			   (B)	 gVV² {dH$mg
	 (C)	OZg§»`m {Z`§ÌU			   (D)	 dZ g§ajU

		  Rio + 20 is mainly related to which of the following ?

	 (A)	 Economic development			   (B)	 Sustainable development

	 (C)	 Population control			   (D)	 Forest protection

	 14.	 "E.EZ.nr.Ama.' H$m Š`m AW© h¡ ?
	 (A)	ñdMm{bV ZoQ>dH©$ ßboQ> nhMmZ		 (B)	 ñdMm{bV Z§~a ßboQ> nhMmZ
	 (C)	CÝZV Z§~a ßboQ> nhMmZ			   (D)	 ñdMm{bV amîQ´>r` ßboQ> nhMmZ

		  What does ‘ANPR’ stands for ?
	 (A)	 Automatic Network Plate Recognition	 (B)	 Automatic Number Plate Recognition
	 (C)	 Advanced Number Plate Recognition	 (D)	 Automated National Plate Recognition

	 15.	 "gVV² {dH$mg' H$m {dMma {H$g df© ApñVËd _| Am`m ?
	 (A)	1972			   (B)	 1980	
	 (C)	2007			   (D)	 Cn`w©ŠV _| go H$moB© Zht

		  In which year did the idea of ‘Sustainable development’ came into existence ?
	 (A)	 1972			   (B)	 1980
	 (C)	 2007			   (D)	 None of the above

	 16.	 {ZåZ{b{IV _| go H$m¡Z EH$ J«rZhmCg J¡g h¢ ?
	 (A)	_rWoZ			   (B)	 hr{b`_	
	 (C)	hmBS´>moOZ			   (D)	 H$m~©Z _moZmoAm°ŠgmBS>

		  Which one of the following is a greenhouse gas ?
	 (A)	 Methane			   (B)	 Helium
	 (C)	 Hydrogen			   (D)	 Carbon monoxide

	 17.	 {ZåZ{b{IV _| go {H$go 2024 _| Zmo~b em§{V nwañH$ma go gå_m{ZV {H$`m J`m ?
	 (A)	_Xa Q>oaogm			   (B)	Am§J gmZ gw H$s
	 (C)	_bbm `ygw\$OB©			   (D)	 {ZhmoZ {hS>mZŠ`mo
	 	 Who among the following was awarded the Nobel Peace Prize 2024 ?
	 (A)	 Mother Teresa			   (B)	 Aung San Suu Kyi
	 (C)	 Malala Yousafzai			   (D)	 Nihon Hidankyo

	 18.	 {ZåZ{b{IV _| go H$m¡Z EH$ H$m±J«og ZoVm Ho${~ZoQ> {_eZ `moOZm Ho$ nyU©V: nj _| Wm ?
	 (A)	_hmË_m Jm§Yr			   (B)	 Odmha bmb Zohê$
	 (C)	gaXma nQ>ob			   (D)	 _m¡bmZm A~wb H$bm_ AmOmX

		  Who among the following leader of Congress was totally in favour of Cabinet Mission Plan ?
	 (A)	 Mahatma Gandhi			   (B)	 Jawahar Lal Nehru
	 (C)	 Sardar Patel			   (D)	 Maulana Abul Kalam Azad
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	 19.	 2005 _| bmJy hþE Š`moQ>mo àmoQ>moH$m°b H$m àmW{_H$ CÔoí` Š`m h¡ ?
	 (A)	àem§V _hmgmJa _| em§{V ñWm{nV H$aZm	 (B)	 d¡pídH$ H$m~©Z ~mOma ~ZmZm
	 (C)	_hmgmJar` àXÿfU H$mo {Z`§{ÌV H$aZm	 (D)	 J«rZhmCg J¡gm| Ho$ CËgO©Z H$mo H$_ H$aZm

		  What is the primary purpose of Kyoto protocol which came into effect in 2005 ?

	 (A)	 Establish peace in the pacific ocean	 (B)	 Create a global carbon market

	 (C)	 To regulate ocean pollution		 (D)	 To reduce the emission of greenhouse gasses

	 20.	 1857 Ho$ {dÐmoh Ho$ _w»` ZoVm
	 a.	amZr bú_r~mB©
	 b.	_§Jb nmÊS>o`
	 c.	~hmXþa emh µO\$a
	 d.	_ra {Zgma Abr

		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :
	 (A)	Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db d, a, b	 (D)	 Ho$db c, d, b

		  Main leaders during the Revolt of 1857 

	 a.	 Rani Laxmibai

	 b.	 Mangal Pandey

	 c.	 Bahadur Shah Zafar

	 d.	 Mir Nisar Ali

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 d, a, b only	 (D)	 c, d, b only

	 21.	 J§Jm ZXr H$s Ob àdmh àUmbr Ho$ g§X^© _| {ZåZ{b{IV _| go H$m¡Z-go H$WZ ghr h¢ ?
	 a.	 ^maV _| J§Jm ZXr àUmbr g~go ~‹S>r h¡ &
	 b.	 J§Jm H$m CX²J_ CÎmaH$mer _| h¡ &
	 c.	 gVbO VWm Pob_ J§Jm àUmbr H$s ghm`H$ Z{X`m± h¢ &
	 d.	 gmoZ ZXr J§Jm Ho$ Xm{hZo VQ> H$s à_wI ghm`H$ ZXr h¡ &
		  ZrMo {XE JE {dH$ënm| _| go ghr CÎma Mw{ZE :	
	 (A)	 Ho$db a, b, c	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a, c, d	 (D)	 Ho$db a, b, d

		  With reference to river Ganga drainage system, which of the following statements are correct ?

	 a.	 The Ganga river system is largest in India.

	 b.	 Ganga rises in the Uttarkashi.

	 c.	 Satluj and Jhelum are tributaries of Ganga system.

	 d.	 Son river is its major right bank tributary of Ganga.

		  Choose the correct answer from the options given below :

	 (A)	 a, b, c only	 (B)	 b, c, d only	 (C)	 a, c, d only	 (D)	 a, b, d only
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	 22.	 µI¡~a Xam© {ZåZ{b{IV _| go {H$g Xoe _§o pñWV h¡ ?

	 (A)	~m§½bmXoe	 (B)	 ^yQ>mZ	 (C)	 ^maV	 (D)	 nm{H$ñVmZ

		  Khyber Pass is situated in which of the following countries ?

	 (A)	 Bangladesh	 (B)	 Bhutan	 (C)	 India	 (D)	 Pakistan

	 23.	 "H$m°[aAmo{bg à^md' {ZåZ{b{IV _| go {H$gH$m n[aUm_ h¡ ?

	 (A)	_hmgmJar` YmamE±			   (B)	 n¥Ïdr H$m KyU©Z

	 (C)	dm`w_ÊS>br` Xm~ {^ÝZVmE±			   (D)	 MÝÐ_m H$m JwéËdmH$f©U qIMmd

		  ‘Coriolis effect’ is a result of which of the following ?

	 (A)	 Ocean currents			   (B)	 Earth’s rotation

	 (C)	 Atmospheric pressure differences	 (D)	 The gravitational pull of the moon

	 24.	 {H$ñQ>u H$mod|Q´>r, Omo A§Vam©îQ´>r` Amob§{nH$ g{_{V (IOC) H$s AÜ`j MwZr OmZo dmbr nhbr _{hbm ~Zr, {ZåZ{b{IV 
_| go {H$g Xoe go h¢ ?

	 (A)	{µOå~mãdo			   (B)	Am°ñQ´>o{b`m

	 (C)	~«mOrb			   (D)	 g§`wŠV amÁ` A_o[aH$m

	 	 Kirsty Coventry, who became the first woman to be elected as President of the International Olympic 

Committee (IOC) is from which of the following countries ?

	 (A)	 Zimbabwe			   (B)	 Australia

	 (C)	 Brazil			   (D)	 United States of America

	 25.	 {ZåZ{b{IV _| go H$m¡Z-gm/go amîQ´>r` OZg§»`m Zr{V, 2000 Ho$ CÔoí` h¡/h¢ ?

	 1.	 2045 VH$ OZg§»`m pñWa H$aZm &

	 2.	 _mV¥ _¥Ë`wXa H$mo 100,000 Or{dV OÝ_mo§ na 100 go ZrMo bmZm &
		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
	 	 Hy$Q> :

	 (A)	Ho$db 1			   (B)	 Ho$db 2

	 (C)	1 Am¡a 2 XmoZm|			   (D)	 Z Vmo 1 Am¡a Z hr 2

	 	 Which of the following is/are the objectives of National Population Policy, 2000 ?

	 1.	 Population stabilisation by 2045.

	 2.	 Reduce maternal mortality rate to below 100 per 100,000 live birth.

		  Select the correct answer from the code given below :

		  Code :

	 (A)	 Only 1			   (B)	 Only 2

	 (C)	 1 and 2  both			   (D)	 Neither 1 nor 2
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	 26.	 {ZåZ{b{IV _| go H$m¡Z g~go à{gÕ ny±Or ~mµOma h¢ ?
	 1.	 eo`a ~mµOma
	 2.	 ~m±S> ~mµOma
	 3.	 ^maV _| {H$gr ^r {S>nm°{OQ>ar Ho$ gmW EH$ {S>nm°{OQ>ar ImVm
		  ZrMo {XE JE Hy$Q> go ghr CÎma H$m M`Z H$s{OE :
		  Hy$Q> :
	 (A)	Ho$db 1	 (B)	 Ho$db 1 Am¡a 3	 (C)	 Ho$db 2 Am¡a 3	 (D)	 Ho$db 1 Am¡a 2
		  Which among the following are the best known capital markets ?
	 1.	 The stock market
	 2.	 The bond markets
	 3.	 A depository account with any of the depositories in India
		  Select the correct answer from the code given below :
		  Code :
	 (A)	 Only 1	 (B)	 Only 1 and 3	 (C)	 Only 2 and 3	 (D)	 Only 1 and 2

	 27.	 ^maV _| {\$ŠH$s H$s ñWmnZm {H$gZo H$s ?
	 (A)	 Or. S>r. {~‹S>bm Ed§ Oo. Ama. S>r. Q>mQ>m	 (B)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Or. S>r. {~‹S>bm
	 (C)	_hmË_m Jm§Yr Ed§ XmXm^mB© Zm¡amoOr	 (D)	 nwafmoÎm_Xmg R>mHw$aXmg Ed§ Oo. Ama. S>r. Q>mQ>m
		  Who established FICCI in India ?
	 (A)	 G. D. Birla and J. R. D. Tata 	 (B)	 Purshottamdas Thakurdas and G. D. Birla
	 (C)	 Mahatma Gandhi and Dadabhai Naoroji	 (D)	 Purshottamdas Thakurdas and J. R. D. Tata

	 28.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &
	 gyMr – I				    gyMr – II

		  (A{YH$ma Ho$ àH$ma)			   	 (AZwgyMr)
	 a.	 {d{Y Ho$ g_j g_mZVm H$m A{YH$ma	 I.	 AZwgyMr – 14
	 b.	 Y_© Ho$ AmYma na ôX^md go gwajm	 II.	 AZwgyMr – 15	
	 c.	 Adga H$s g_mZVm		  	 III.	 AZwgyMr – 16
	 d.	 Añn¥í`Vm H$m A§V 		  	 IV.	 AZwgyMr – 17
		  Hy$Q> :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
		  Match List – I with List – II and select the correct answer from the code given below the lists.
	L ist – I		L  ist – II
		 (Types of Rights)				    (Article)
	 a.	 Right of equality before the law	 I.	 Article – 14
	 b.	 Protection from discrimination on religious ground	 II.	 Article – 15
	 c.	 Equality of opportunity			   III.	 Article – 16
	 d.	 Abolition of untouchability			   IV.	 Article – 17
		  Code :
	 (A)	 a – I	 b – II	 c – III	 d – IV
	 (B)	 a – I	 b – III	 c – II	 d – IV
	 (C)	 a – I	 b – III	 c – IV	 d – II
	 (D)	 a – II	 b – I	 c – III	 d – IV
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	 29.	 bmoH$g^m H$s A{YH$V_ gXñ` g§»`m {ZYm©[aV h¡

	 	 The maximum number of members in the Lok Sabha is fixed at

	 (A)	 530	 (B)	 545	 (C)	 550	 (D)	 552

	 30.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$s{OE VWm gy{M`m| Ho$ ZrMo {XE JE Hy$Q> go ghr CÎma Mw{ZE &

	  	  gyMr – I		        gyMr – II

		  (AZwgyMr)	 	 (g§d¡Ym{ZH$ àmdYmZ)

	 a.	 AZwÀN>oX 50	 I.	 amîQ́>n{V na _hm{^`moJ

	 b.	 AZwÀN>oX 143	 II.		 Ý`m`nm{bH$m Am¡a H$m ©̀nm{bH$m Ho$ ~rM n¥WŠH$aU	

	 c.	 AZwÀN>oX 61	 III.	 bmoH$ godm Am`moJ H$m H$m ©̀

	 d.	 AZwÀN>oX 320	 IV.	 gdm©oÀM Ý`m`mb` H$m gbmhH$ma joÌm{YH$ma

		  Hy$Q> :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II

		  Match List – I with List – II and select the correct answer from the code given below the lists.

		   List – I	  	             List – II

		  (Article)		  (Constitutional Provision)

	 a.	 Article 50	 I.	 Impeachment of the President

	 b.	 Article 143	 II.	 Separation between Judiciary and Executive

	 c.	 Article 61	 III.	 Functioning of Public Service Commission

	 d.	 Article 320	 IV.	 Advisory Jurisdiction of the Supreme Court

		  Code :

	 (A)	 a – II	 b – IV	 c – I	 d – III

	 (B)	 a – III	 b – I	 c – IV	 d – II

	 (C)	 a – II	 b – I	 c – IV	 d – III

	 (D)	 a – III	 b – IV	 c – I	 d – II
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dZñn{V {dkmZ
Botany

	 31.	 {ZåZ{b{IV {dH$ënmo§ _o§ go nmXn D$VH$ g§dY©Z à{H«$`mAm| H$m ghr AZwH«$_ MwZ| &

	 i.	 EŠñßbm§Q> H$m ñQ>ambmBµOoeZ

	 ii.	 BÝŠ`y~oeZ

	 iii.	 BZmoŠ`yboeZ

	 iv.	 g»VrH$aU

	 (A)	 i, iii, ii, iv			   (B)	 i, ii, iii, iv	

	 (C)	 iv, i, ii, iii			   (D)	 ii, iv, i, iii

		  Choose the correct sequence of plant tissue culture processes from the following options.

	 i.	 Sterilization of explant

	 ii.	 Incubation

	 iii.	 Inoculation

	 iv.	 Hardening

	 (A)	 i, iii, ii, iv			   (B)	 i, ii, iii, iv	

	 (C)	 iv, i, ii, iii			   (D)	 ii, iv, i, iii

	 32.	 {ZåZ{b{IV MaUm| H$mo gŠgoeZ Ho$ AZwH«$_ _| ì`dpñWV H$s{OE &

	 i.	 bmBHo$Z

	 ii.	 emH$ Ed§ Pm‹S>r

	 iii.	 _m°g

	 iv.	 d¥j

	 (A)	 i, ii, iv, iii			   (B)	 i, iv, iii, ii	

	 (C)	 ii, iii, iv, i			   (D)	 i, iii, ii, iv

		  Arrange the following steps in a sequence of succession.

	 i.	 Lichen

	 ii.	 Herbs and shrubs

	 iii.	 Moss

	 iv.	 trees

	 (A)	 i, ii, iv, iii			   (B)	 i, iv, iii, ii	

	 (C)	 ii, iii, iv, i			   (D)	 i, iii, ii, iv
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	 33.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &  
A{^H$WZ (A) : H$nmg VÝVw àXmZ H$aZo dmbm nm¡Ym h¡ &

		  VH©$ (R) : H$nmg Ho$ VÝVw ~rOm| na {dH${gV hmoVo h¢ &
		  ghr {dH$ën MwZ| &
	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 
	 (B)	(A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡
	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡
	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡

		  Given below are two statements, one is labelled as Assertion (A) and other as Reason (R). 

		  Assertion (A) : Cotton is fibre yielding plant.
		  Reason (R) : The cotton fibres develop on the seeds.
		  Choose the correct option.
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
	 (C)	 (A) is correct, but (R) is not correct
	 (D)	 (A) is not correct, but (R) is correct

	 34.	 EH$ ha~o[a`_ erQ> H$m _mZH$ AmH$ma hmoVm h¡ 
		  The standard size of a herbarium sheet is
	 (A)	 28.75 × 41.25 cm	 (B)	 25.15 × 40.25 cm	 (C)	 18.75 × 41.25 cm	 (D)	 28.75 × 35.23 cm

	 35.	 {ZåZ{b{IV _| go H$m¡Z ~rOm| _| A§Hw$aU H$mo ~‹T>mdm XoVm h¡ ?

	 (A)	ham àH$me	 (B)	 bmb àH$me	 (C)	 Zrbm àH$me	 (D)	 BÝ\«$maoS> àH$me
		  Germination of seed is promoted by which of the following ?
	 (A)	 Green light	 (B)	 Red light	 (C)	 Blue light	 (D)	 Infrared light

	 36.	 aoV Ho$ Q>rbm| _| gŠgoeZ H$mo Š`m H$hVo h¢ ?
	 (A)	 µOramo{g`a	 (B)	 {bWmo{g`a	 (C)	 gm_m}{g`a	 (D)	 hobmo{g`a
		  Succession of sandy dune is called as
	 (A)	 Xerosere	 (B)	 Lithosere	 (C)	 Psarmosere	 (D)	 Halosere

	 37.	 {ZåZ{b{IV _| go H$m¡Z-gr àOm{V ^maVdf© _| AmH«$m_H$ àOm{V Zht h¡ ?
	 (A)	àmogmo{ng Oybrâbmoam			   (B)	AmBH$mo{Z©`m H«$m{gnog

	 (C)	boÝQ>mZm H$_mam			   (D)	 gmBZmoS>m°Z S>opŠQ>bm°Z
		  Which one of the following species is not an invasive species in India ?
	 (A)	 Prosopis juliflora			   (B)	 Eichhornia crassipes
	 (C)	 Lantana camara			   (D)	 Cynodon dactylon

	 38.	 ewÕ Ob H$s dmQ>a nmoQ>|{e`b {H$VZr hmoVr h¡ ?
		  What is the water potential of pure water ?

	 (A)	 0.1	 (B)	 1.0	 (C)	 0.0	 (D)	 5.0>
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	 39.	 {ZåZ{b{IV _| go H$m¡Z JwUm§H$ n[adV©Z g_PZo _| ghm`H$ hmoVm h¡ ?

	 (A)	gmnoj {^ÝZVm			   (B)	 _mÜ` {dMbZ

	 (C)	~hþbH$ Am¡a _mpÜ`H$m			   (D)	 ~ma§~ma hmoZo dmbr KQ>Zm
		  which of the following is helpful to understand Coefficient variability ?
	 (A)	 Relative variation			   (B)	 Mean deviation
	 (C)	 Mode and median			   (D)	 Most frequent occurrence

	 40.	 {ZåZ{b{IV _| go H$m¡Z-gm hma_moZ \$bm| Ho$ nH$Zo _| _w»`V: {Oå_oXma hmoVm h¡ ?

	 (A)	Epãg{gH$ E{gS>	 (B)	 {O~ao{bÝg	 (C)	 BWmBbrZ	 (D)	 gmBQ>moH$mB{ZÝg
		  Which of the following hormones is mainly responsible for ripening of fruits ?
	 (A)	 Abscisic acid	 (B)	 Gibberellins	 (C)	 Ethylene	 (D)	 Cytokinins

	 41.	 {ZåZ{b{IV _| go H$m¡Z-gm H$mo{eH$m§J àmoQ>rZ Ho$ N>§Q>mB© Am¡a Cn-àoaUmË_H$ g§emoYZ XmoZm| _| em{_b h¡ ?
	 (A)	amB~mogmo_			   (B)	 JmoëJr EonaoQ>g
	 (C)	E§S>moßbmpÁ_H$ ao{Q>Hw$b_			   (D)	 naAm°ŠgrOmo_
	 	 Which of the following organelles is involved in both protein sorting and post-translational modification ?
	 (A)	 Ribosome			   (B)	 Golgi apparatus
	 (C)	 Endoplasmic reticulum 			   (D)	 Peroxisome

	 42.	 S>r.EZ.E. AUw H$m EH$ gm_mÝ` ì`mg {ZåZ{b{IV _| go {H$VZm hmoVm h¡ ?
		  Which of the following is the uniform diameter of a DNA molecule ?

	 (A)	 20 A°	 (B)	 60 A°	 (C)	 80 A°	 (D)	 27 A°

	 43.	 {ZåZ{b{IV _| go H$m¡Z-gm gdm©{YH$ pñWa nm[apñW{VH$s VÝÌ h¡ ?
	 (A)	O§Jb	 (B)	 ao{JñVmZ	 (C)	 nd©V	 (D)	 g_wÐ

		  Which of the following is the most stable ecosystem ?
	 (A)	 Forest	 (B)	 Desert	 (C)	 Mountain	 (D)	 Ocean

	 44.	 {ZåZ{b{IV _| go {H$g_| gdm©{YH$ dZ AmdaU h¢ ?
	 (A)	N>ÎmrgJ‹T>	 (B)	 _Ü` àXoe	 (C)	Amo{‹S>gm	 (D)	AéUmMb àXoe
		  Which of the following has largest forest cover ?
	 (A)	 Chhattisgarh	 (B)	 Madhya Pradesh	 (C)	 Orissa	 (D)	 Arunachal Pradesh

	 45.	 {ZåZ{b{IV _| go H$m¡Z-gm ^maV H$m àW_ ~m`moñ\$s`a [aOd© h¡ ?
	 (A)	Zrb{Jar ~m`moñ\$s`a [aOd©			   (B)	 ZÝXmXodr ~m`moñ\$s`a [aOd©
	 (C)	J«oQ> {ZH$mo~ma ~m`moñ\$s`a [aOd©	 (D)	 ZmoH$aoH$ ~m`moñ\$s`a [aOd©

		  Which of the following is the first biosphere reserve of India ?
	 (A)	 Nilgiri biosphere reserve			  (B)	 Nandadevi biosphere reserve
	 (C)	 Great Nicobar biosphere reserve	 (D)	 Nokrek biosphere reserve
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	 46.	 H$m¡Z-gm nm[apñW{VH$ {nam{_S> gd©Xm grYm hmoVm h¡ ?

	 (A)	g§»`m H$m {nam{_S>			   (B)	 O¡d^ma H$m {nam{_S>

	 (C)	naOrdr ImÚ ûm§¥Ibm H$m {nam{_S>	 (D)	 D$Om© H$m {nam{_S>
		  Which ecological pyramid is always upright ?
	 (A)	 Pyramid of numbers			   (B)	 Pyramid of biomass
	 (C)	 Pyramid of parasitic food chain	 (D)	 Pyramid of energy

	 47.	 "AmZwd§{eH$s' eãX {H$gZo {X`m Wm ?

	 (A)	hçyJmo S>r d«rg			   (B)	 H$mb© H$moa|g	

	 (C)	Ëeo{_H$ gog|J			   (D)	 S>ãë`y. ~¡Q>gZ
		  Who coined the term ‘Genetics’ ?
	 (A)	 Hugo de vries			   (B)	 Carl Correns
	 (C)	 Tschermak Seysenegg 			   (D)	 W. Batson

	 48.	 àmoQ>rZ H$s {ÛVr`H$ g§aMZm H$m Am§H$bZ {H$`m Om gH$Vm h¡ 

	 (A)	gHw©$ba S>mBH$mo[aÁ_ ñnoŠQ´>moñH$monr Ûmam	 (B)	 BboŠQ´>m°Z _mBH«$moñH$monr Ûmam

	 (C)	H$m°b_ H«$mo_¡Q>moJ«m\$s Ûmam			   (D)	 {WZ bo`a H«$mo_¡Q>moJ«m\$s Ûmam
		  Secondary structure of protein can be assessed by
	 (A)	 Circular dichorism spectroscopy	 (B)	 Electron microscopy
	 (C)	 Column chromatography			  (D)	 Thin layer chromatography

	 49.	 d¡km{ZH$ Zm_ _¡bg _¡bg EH$ CXmhaU h¡

	 (A)	Am°Q>mo{Z_ H$m	 (B)	 Q>m°Q>mo{Z_ H$m	 (C)	 {gZm°{Z_ H$m	 (D)	 hmo_mo{Z_ H$m
		  scientific name Malus malus is an example of 
	 (A)	 Autonym	 (B)	 Tautonym	 (C)	 Synonym	 (D)	 Homonym

	 50.	 _moZmogmo{ZH$ hmoVm h¡ 
		  Monosonic is
	 (A)	 n	 (B)	 2n – 1	 (C)	 2n + 1	 (D)	 2n + 2

	 51.	 {^ÝZ OrZ _| å`yQ>oeZ Ho$ H$maU EH$ _{hbm _| H¡$Q>aoŠQ> Ed§ nm°brS>¡ŠQ>mBbr Xmo à^mdr JwU h¢ & H¡$Q>aoŠQ> Cgo AnZo {nVm go 
Ed§ nm°brS>¡ŠQ>mBbr AnZr _mVm go {_bo h¢ & CgHo$ n{V _| BZ XmoZm| _| go H$moB© JwU Zht h¡ & `{X `h _mZ {b`m Om`o {H$ 
`o XmoZm| JwU EH$ JwUgyÌ na 15 cm H$s Xÿar na h¡, Vmo CZHo$ àW_ ~ÀMo _| BZ XmoZm| JwUm| Ho$ hmoZo H$s gå^mdZm hmoJr

		  A woman possesses two dominant traits, each resulting from a mutation in a different gene, cataracts 
inherited from her father and polydactyly inherited from her mother. Her husband does not have either 
trait. Given that the genes for these two traits are located 15 cm apart or the same chromosome, what is 
the probability that their first child will inherit both cataracts and polydactyly ?

	 (A)	 49.5%	 (B)	 42.5%	 (C)	 52.5%	 (D)	 63.9%
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	 52.	 H$mo{eH$m {d^mOZ Ho$ g_` Šb¡ån H$ZoŠeZ {deofV: {ZåZ _| go {H$g_| ~ZVm h¡ ?
	 (A)	EñH$mo_mBgrQ²>g _|			   (B)	 ~o{g{S>`mo_mBgrQ²>g _|
	 (C)	S>çyQ>oamo_mBgrQ²>g _|			   (D)	 H$mB{Q´>{S>`mo_mBgrQ²>g _|
		  Clamp connections are characteristically formed during cell division in which of the following ?
	 (A)	 Ascomycetes			   (B)	 Basidiomycetes
	 (C)	 Deuteromycetes			   (D)	 Chytridiomycetes

	 53.	 {ZåZ{b{IV _| go H$m¡Z ~S>©²g ZoñQ> Am{H©$S> H$hbmVm h¡ ?
	 (A)	ñnmBa¡ÝWg ñnmBa¡{bg			   (B)	Ama{H$S> _mo[a`mo
	 (C)	{bñQ>o[a`m Amodoam			   (D)	 ZrAmo{g`m {ZS²>g E{dg
		  Which of the following is known as Bird’s Nest Orchid ?
	 (A)	 Spiranthes spiralis			   (B)	 Orchid Morio
	 (C)	 Listeria ovara			   (D)	 Neottia nidus avis

	 54.	 {ZåZ{b{IV Hw$bm| H$mo V»VmOmZ (2009) H$s dJuH$aU nÕ{V Ho$ AZwgma ì`dpñWV H$s{OE &

	 I.	 EHo$ÝWogr

	 II.	 EnmogmBZogr

	 III.	 é{~`ogr

	 IV.	 gmoboZogr
	 (A)	 IV, I, III, II	 (B)	 II, IV, I, III	 (C)	 III, II, IV, I	 (D)	 I, III, II, IV
	 	 Arrange the following families according to Takhtajan (2009) system of classification.

	 I.	 Acanthaceae

	 II.	 Apocynaceae

	 III.	 Rubiaceae

	 IV.	 Solanaceae
	 (A)	 IV, I, III, II	 (B)	 II, IV, I, III	 (C)	 III, II, IV, I	 (D)	 I, III, II, IV

	 55.	 {ZåZ{b{IV MaUm| H$mo ghr AZwH«$_ _| ì`dpñWV H$s{OE &
	 I.	 h{MÝgZ H$s dJuH$aU nÕ{V
	 II.	 E.nr.S>o. H$moÝS>mobo H$s dJuH$aU nÕ{V
	 III.	 ~oÝW_ Ed§ hÿH$a H$s dJuH$aU nÕ{V
	 IV.	 E|Jba Ed§ à¢Q>b H$s dJuH$aU nÕ{V
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
		  Arrange the following steps in the correct sequence.
	 I.	 Hutchinson’s system of classification
	 II.	 A. P. de Condolle’s system of classification
	 III.	 Bentham and Hooker’s system of classification
	 IV.	 Engler and Prantle’s system of classification
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
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	 56.	 ZrQ>_ EpÝO`moñn_© (Amd¥Îm~rOr nm¡Ym|) go g_mZVm aIVm h¡ 

	 a.	{^ÝZ Q>çy{ZH$m Am¡a H$mon©g `wŠV àamoh (eyQ> {Q>n) _|

	 b.	_mXm `w½_H$moX²{^X Ho$ Q>oQ´>mñnmo[aH$ {dH$mg _|

	 c.	{Û~rOnÌr` ^«yU _|

	 d.	`w½_ZO _| ñdV§Ì Ho$ÝÐH$s` {d^mOZ _|
	 (A)	 b, c, d	 (B)	 a, c, d	 (C)	 a, b, c	 (D)	 b, d

		  Gnetum resembles angiosperms in having

	 a.	 Shoot apices with distinct tunica and corpus

	 b.	 Tetrasporic development of the female gametophyte

	 c.	 Dicotyledonous embryo

	 d.	 Free nuclear division in zygote

	 (A)	 b, c, d	 (B)	 a, c, d	 (C)	 a, b, c	 (D)	 b, d

	 57.	 nm¡Ym| H$s n{Îm`m| Ho$ AmH$ma H$mo {ZåZ{b{IV _| go H$m¡Z-go eãX dU©Z H$aVo h¢ ?

	 a.	 EgmBHw$ba (gwB© O¡gm)

	 b.	 Amdb¡pÝg`moboQ> (Am`VmH$ma)

	 c.	 AmodoQ> (A§S>mH$ma)

	 d.	 BÝQ>m`a (nyam)

	 e.	 {ga¡Q>
	 (A)	 a, c	 (B)	 b, d, e	 (C)	 a, b, c	 (D)	 a, d, e

		  Which of the following terms described shape of plant leaves ?
	 a.	 Acicular
	 b.	 Oblanceolate
	 c.	 Ovate
	 d.	 Entire
	 e.	 Serrate

	 (A)	 a, c	 (B)	 b, d, e	 (C)	 a, b, c	 (D)	 a, d, e

	 58.	 {ZåZ{b{IV _| go H$m¡Z-gm H¥${f nm¡Ym| Ho$ CËn{Îm Ho$ÝÐm| _| go dm{dbmod Ûmam g~go A{YH$ {d{dYVm dmbm Ho$ÝÐ _mZm 
J`m Wm ?

	 (A)	^y_Ü`gmJar` Ho$ÝÐ			   (B)	 nydu Ho$ÝÐ Ho$ {ZH$Q>

	 (C)	B§S>mo-_b` Ho$ÝÐ			   (D)	 X{jU A_o[aH$s Ho$ÝÐ

		  Which of the following centers of origin of cultivated plant was identified by vavilov as having the greatest 
diversity in crop species ?

	 (A)	 Mediterranean Center			   (B)	 Near Eastern Center

	 (C)	 Indo-Malay Center			   (D)	 South American Center
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	 59.	 {ZåZ{b{IV MaUm| H$mo ghr AZwH«$_ _| ì`dpñWV H$s{OE &
	 I.	 Jwhm Ed§ _mhoídar Ûmam namJH$moe g§dY©Z H$s ImoO
	 II.	 ë`ydoZhmoH$ Ûmam ~hþ^«yUVm H$s ImoO
	 III.	 ñQ´>mg~J©a Ûmam Amd¥Îm~r{O`m| _| `w½_H$ g§b`Z H$s ImoO
	 IV.	 ZdmñMrZ Ûmam Amd¥Îm~r{O`m| go {ÛVr`H$ {ZfoMZ H$s ImoO
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma MwZ| &
		  Hy$Q> :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV
		  Arrange the following steps in the correct sequence.
	 I.	 Discovery of anther culture by Guha and Maheshwari.
	 II.	 Discovery of polyembryony by Leeuwenhoek.
	 III.	 Discovery of syngamy in Angiosperms by strassburger.
	 IV.	 Discovery of double fertilization in angiosperms by Nawaschin.
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I	 (D)	 I, III, II, IV

	 60.	 `{X {H$gr S>oQ>mgoQ> H$m _mZH$ {dMbZ (Standard deviation) 4 h¡ Am¡a Am¡gV 20 h¡, Vmo {d^oXH$Vm H$m JwUm§H$ 
(Coefficient of Variation, (CV)) Š`m hmoJm ?

		  If the standard deviation of a dataset is 4 and the mean is 20, what is the coefficient of variation (CV) ?
	 (A)	 10%	 (B)	 20%	 (C)	 16%	 (D)	 25%

	 61.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
		 	 gyMr – I	 	 gyMr – II
	 a.	 {gQ´>g H¢$H$a	 I.	 _oboZmoñnmoam {b{Z
	 b.	~mOam H$m ham H$mZ	 II.	 {h{~ñH$g `obmo doZ _moO¡H$ dm`ag
	 c.	 {^ÊS>r H$m doZ Šbr`[a§J	 III.	 O¡ÝWmo_moZmg {gQ´>r
	 d.	Abgr H$m añQ>	 IV.	 ñŠboamoñnmoam J«¡påZH$mobm
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &

	 	 Hy$Q> :
	 (A)	 a – III, b – II, c – IV, d – I
	 (B)	 a  – I, b – II, c – IV, d – III
	 (C)	 a – III, b – I, c – II, d – IV
	 (D)	 a – III, b – IV, c – II, d – I
		  Match List – I with List – II.
	 	L ist – I		L  ist – II
	 a.	 Citrus canker	 I.	 Melanospora lini
	 b.	 Green ear of Bajra	 II.	 Hibiscus yellow 	vein mosaic virus
	 c.	 Vein clearing of Bhindi	 III.	 Xanthomonas citri
	 d.	 Rust of Linseed	 IV.	 Sclerospora gramnicola
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 a – III, b – II, c – IV, d – I
	 (B)	 a  – I, b – II, c – IV, d – III
	 (C)	 a – III, b – I, c – II, d – IV
	 (D)	 a – III, b – IV, c – II, d – I
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	 62.	 gyMr – I H$m {_bmZ gyMr – II go H$a| &
	 	 gyMr – I		  gyMr – II

	 a.	 ~|W_ Am¡a hÿH$a	 I.	 dJuH$aU àUmbr S>r 	H$moÝS>mob na AmYm{aV h¡
	 b.	 E|Jba Am¡a à¢Q>b	 II.	 dJuH$aU àUmbr ~ogr 	H$s àUmbr na AmYm[aV h¡
	 c.	 h{MÝgZ	 III.	 dJuH$aU àUmbr 	BMba àUmbr na AmYm[aV h¡
	 d.	 V»VmOmZ	 IV.	 H$m°Z©pŠdñQ> Ho$ g_mZ
		  ZrMo {XE JE Hy$Q>> _| go ghr CÎma Mw{ZE &

		  Hy$Q> :
	 (A)	 a – I, b – III, c – II, d – IV		  (B)	 a  – II, b – III, c – I, d – IV
	 (C)	 a – III, b – I, c – II, d – IV		  (D)	 a – IV, b – II, c – III, d – I
		  Match List – I with List – II.
	 	L ist – I		L  ist – II
	 a.	 Bentham and Hooker 	 I.	 Classification 	system is based on de candolle
	 b.	 Engler and Prantl	 II.	 Classification system is 	based on 	Bessy’s system
	 c.	 Hutchinson	 III.	 Classification 	system is based on Eichler’s system
	 d.	 Takhtajan	 IV.	 Very similar to cornquist
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 a – I, b – III, c – II, d – IV		  (B)	 a  – II, b – III, c – I, d – IV
	 (C)	 a – III, b – I, c – II, d – IV		  (D)	 a – IV, b – II, c – III, d – I

	 63.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a| &
	 	 gyMr – I		  gyMr – II

	 a.	 J|hÿ H$m ãb¡H$ añQ>	 I.	 nŠgr{Z`m {aH$mÝS>rQ>m
	 b.	 J|hÿ H$m `obmo añQ>	 II.	 nŠgr{Z`m J«o{_	{ZH$mobm E\$.ñnr. {Q´>Q²>gr
	 c.	 J|hÿ H$m ~«mCZ añQ>	 III.	 ŠboS>moQ´>mBH$_ \$bHo$Q>_
	 d.	 JÝZo H$m aoS> añQ>	 IV.	 nŠgr{Z`m ñQ´>m°\$m{_©g

		  {ZåZ _| go ghr {dH$ën CÎma Mw{ZE &

	 	 Hy$Q> :
	 (A)	 a – III, b – II, c – IV, d – I		  (B)	 a  – II, b – I, c – IV, d – III
	 (C)	 a – II, b – IV, c – I, d – III		  (D)	 a – I, b – III, c – IV, d – II
		  Match List – I with List – II.
	 	L ist – I		L  ist – II
	 a.	 Black rust of wheat	 I.	 Puccinia recondita
	 b.	 Yellow rust of wheat	 II.	 Puccinia graminicola 	f.sp. tritici
	 c.	 Brown rust of wheat 	 III.	 Colletotrichum falcatum
	 d.	 Red rust of sugarcane	 IV.	 Puccinia striiformis
		  Choose the correct answer from code given.
	 	 Code :
	 (A)	 a – III, b – II, c – IV, d – I		  (B)	 a  – II, b – I, c – IV, d – III
	 (C)	 a – II, b – IV, c – I, d – III		  (D)	 a – I, b – III, c – IV, d – II
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	 64.	 ~hþ H$maH$ n[aH$ënZm Ed§ {\$Zmo{Q>{nH$ {^ÞVm Ho$ gå~ÝY _| H$m¡Z-gm H$WZ gË` h¡ ?
	 I.	~hþ H$maH$ n[aH$ënZm Ho$ AZwgma JwU (Q´>oQ>) ~hþ AmZwd§{eH$ Ed§ dmVmdaUr` H$maH$m| go à^m{dV hmoVo h¢ &
	 II.	{\$ea Ho$ AZwgma _mÌmË_H$ JwUm| _| {^ÞVm H$mo AmZwd§{eH$ {^ÞVm (Vg) Ed§ dmVmdaUr` {^ÞVm (Ve) _| 

{d^m{OV H$a gH$Vo h¢ &
	 III.	{\$ea Zo Xmdm {H$`m {H$ _mÌmË_H$ JwU Ho$db dmVmdaUr` H$maH$m| go à^m{dV hmoVo h¢ &
	 IV.	Hw$b {\$Zmo{Q>{nH$ {^ÞVm (VT) h_oem AmZwd§{eH$ {^ÞVm (Vg) Ho$ ~am~a hmoVr h¡ &

	 (A)	Ho$db I, II Am¡a III	 (B)	 Ho$db II Am¡a III	 (C)	 Ho$db II, III Am¡a IV	 (D)	 Ho$db I Am¡a II
		  Which statement regarding the multiple factor hypothesis and phenotypic variance are true ?
	 I.	 According to the multiple factor hypothesis traits are influenced by multiple genetic and 

environmental factors.
	 II.	 According to fisher, the variance of a quantitative trait can be partitioned into genetic variance (Vg) 

and environmental variance (Ve).
	 III.	 Fisher claimed that a quantitative trait is solely determined by environmental factors.
	 IV.	 The total phenotypic variance (VT) of a trait is always equal to the genetic variance (Vg).
	 (A)	 only I, II and III	 (B)	 only II and III	 (C)	 only II, III and IV	 (D)	 only I and II

	 65.	 gyMr – I H$mo gyMr – II Ho$ gmW gw_o{bV H$a| &
	 	 gyMr – I		  gyMr – II
	 a.	 {npånZobm EZrg_	 I.	 `y\$moa{~Egr
	 b.	 Q´>mB©JmoZobm \«o$ZwJ«og_	 II.	 E{nEgr
	 c.	 EåãbrH$m Am°{\${gZ¡{bg	 III.	 {O§{O~oaogr		
	 d.	 BboQ>o[a`m H$m°S>m©_mo__	 IV.	 n¡{n{b`moZogr
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
		  Hy$Q> :
	 (A)	 a – II, b – IV, c – I, d – III		  (B)	 a  – IV, b – I, c – III, d – II
	 (C)	 a – III, b – II, c – IV, d – I		  (D)	 a – I, b – III, c – IV, d – II
		  Match List – I with List – II.
	 	L ist – I		L  ist – II
	 a.	 Pimpinella anisum	 I.	 Euphorbiaceae 	
	 b.	 Trigonella foenumgraecum	 II.	 Apiaceae
	 c.	 Emblica officinalis	 III.	 Zingiberaceae
	 d.	 Elettaria cardamomum	 IV.	 Papilionaceae
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 a – II, b – IV, c – I, d – III		  (B)	 a  – IV, b – I, c – III, d – II
	 (C)	 a – III, b – II, c – IV, d – I		  (D)	 a – I, b – III, c – IV, d – II

	 66.	 nm¡Ymo§ Ho$ AmH$ma OZZ Ho$ g_` _| H¡$bg H$m O‹S> `m H$br _| {d^oXZ _w»` ê$n go {H$g na {Z^©a  
H$aVm h¡ ?

	 (A)	g§dY©Z _mÜ`_ _| Am°ŠgrOZ H$s _mÌm	 (B)	AmpŠgZ Ed§ gmBQ>moH$mB{ZZ H$s AZwnmV
	 (C)	H$m~©Z S>mB©Am°ŠgmB©S> H$s CnbãYVm	 (D)	 {O~ao{bZ Am¡a EWmBbrZ H$m AZwnmV
	 	 During morphogenesis in plant tissue culture, the process of callus differentiation into roots or shoots is 

influenced primarily by
	 (A)	 Oxygen concentration in the culture medium	 (B)	 Ratio of auxin and cytokinin
	 (C)	 The availability of carbon dioxide	 (D)	 Ratio of gibberellin to ethylene
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	 67.	 namJ{dkmZ Ho$ AZwà`moJm| _| {ZåZ{b{IV _| go H$m¡Z-gm AZwà`moJ g~go _hËdnyU© h¡ ?
	 I.	àmMrZ Obdm`w H$m nwZ{Z©_m©U 
	 II.	nm¡Ym| Ho$ {dH$mgmË_H$ MaUm| H$m AÜ``Z 
	 III.	nm¡Ym| Ho$ AZwHy$bZ H$s j_Vm H$m _yë`m§H$Z
	 IV.	\$gb gwYma _| namJ AZwHy$bVm H$m {ZYm©aU
	 (A)	Ho$db I Am¡a II	 (B)	 Ho$db II Am¡a III	 (C)	 Ho$db I, II Am¡a IV	 (D)	 Ho$db I, III Am¡a IV
		  What is the most significant application of polynology ?
	 I.	 Reconstruction of ancient climate
	 II.	 Study of developmental stages of plants
	 III.	 Evaluation of plants adaptability
	 IV.	 Determination of pollen compatibility in crop improvement
	 (A)	 Only I and II	 (B)	 Only II and III	 (C)	 Only I, II and IV	 (D)	 Only I, III and IV

	 68.	 H$dH$ _| Am{X_ go CÞV g_yhm| H$s Amoa g§H«$_U go H$m¡Z-gr {dH$mgdmXr CÝZ{V Ow‹S>r h¡ ?

	 1.	àOZZ aUZr{V`m| _| g_`w½_ go A§S>Jm_r H$s Amoa ~Xbmd

	 2.	ghgma H$dH$ Omb go {d^m{OV H$dH$ Omb H$m {dH$mg

	 3.	OrdZ MH«$ _| {ÛH$m{`H$ AdñWm H$m à^wËd

	 4.	EŠQ>mo_mBH$moamB©Ob g§~§Y H$m {Z_m©U H$s j_Vm

	 (A)	Ho$db 1 Am¡a 3	 (B)	 Ho$db 2 Am¡a 3	 (C)	 Ho$db 2, 3 Am¡a 4	 (D)	 Ho$db 1, 2 Am¡a 4

	 	 In fungi, which evolutionary advancement is associated with the transition from primitive to advanced 
groups ?

	 1.	 Shift from isogamy to oogamy in reproductive strategies
	 2.	 Development of septate hyphae from coenocytic hyphae
	 3.	 Dominance of dikaryophase in the life cycle
	 4.	 Ability to form ectomycorrhizal association
	 (A)	 only 1 and 3	 (B)	 only 2 and 3	 (C)	 only 2, 3 and 4	 (D)	 only 1, 2 and 4

	 69.	 e¡dmb Ho$ {dH$mgdmXr ÑpîQ>H$moU go {ZåZ{b{IV _| go H$m¡Z-gm JwU Šbmoamo\$mBQ>m H$mo amoS>mo\$mBQ>m go AbJ H$aVm h¡ ?

	 1.	Šbmoamo{\$b ‘a’ Am¡a ‘b’ H$s CnpñW{V

	 2.	nm`aoZm°̀ S> Ho$ gmW ñQ>mM© H$m §̂S>maU

	 3.	ghm`H$ dU©H$ Ho$ ê$n _| \$mBH$mo{~{bZ H$m hmoZm

	 4.	J{Verb àOZZ MaUm| H$s AZwnpñW{V

	 (A)	Ho$db 1 Am¡a 2	 (B)	 Ho$db 3 Am¡a 4	 (C)	 Ho$db 1, 2 Am¡a 4	 (D)	 Ho$db 2, 3 Am¡a 4

	 	 In context of algal evolution, which of the following characteristics distinguish chlorophyta from Rhodophyta ?
	 1.	 Presence of chlorophyll ‘a’ and ‘b’
	 2.	 Storage of starch with pyrenoids
	 3.	 Possession of phycobilins as accessory pigments
	 4.	 Absence of motile reproductive stages
	 (A)	 only 1 and 2	 (B)	 only 3 and 4	 (C)	 only 1, 2 and 4	 (D)	 only 2, 3 and 4
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	 70.	 \$moQ>mo{g§Wo{Q>H$ BboŠQ´>m°Z Q´>m§gnmoQ>© MoZ _| n°amŠdmQ> h{~©gmBS> {ZåZ{b{IV _| go {H$Z Xmo KQ>H$m| Ho$ ~rM BboŠQ´>m°Z àdmh 
H$mo amoH$Vm h¡ ?

	 (A)	nr.Eg. II Am¡a gmBQ>moH«$mo_ b6f g_yh	 (B)	 nr.Eg. I Am¡a NADP+

	 (C)	gmBQ>moH«$mo_ b6f g_yh Am¡a nr.Eg. I	 (D)	 EZ.E.S>r.EM. {S>hmBS´>mo{OZoO Am¡a `y{~pŠdZmoZ

		  The herbicide paraquat blocks electron flow between which two components in the photosynthetic electron 
transport chain ?

	 (A)	 PS II and cytochrome b6f complex	 (B)	 PS I and NADP+
	 (C)	 Cytochrome b6f complex and PS I	 (D)	 NADH Dehydrogenase and Ubiquinone

	 71.	 EH$b "EŠg' JwUgyÌ aIZo dmbr EÝ`yßbm°`S>r> _mXmE± Am_Vm¡a na {ZåZ{b{IV _| go {H$g AmZwd§{eH$ pñW{V go Ow‹S>r 
hmoVr h¡ ? 

	 (A)	Q>Z©a qgS´>mo_ 	 (B)	 ŠbmBZ\o$ëQ>a qgS´>mo_ 	 (C)	 {H«$ Sw> M¡Q> qgS´>mo_ 	 (D)	 S>mCZ qgS´>mo_ 
		  Aneuploidy females possessing a single ‘X’ chromosome are typically associated with which of the following 

genetic condition ? 
	 (A)	 Turner syndrome 	 (B)	 Klinefelter syndrome 	(C)	 Cri du chat syndrome 	 (D)	 Down syndrome

	 72.	 {ZåZ{b{IV MaUm| H$mo ghr AZwH«$_ _| ì`dpñWV H$s{OE & 
		  nm[apñW{VH$s` CÎmad¥{Õ Ho$ Mma _hËdnyU© MaU h¢ &

	 I.	Ý`yS>oeZ 

	 II.	àdmgZ 

	 III.	à{VñnYm© 

	 IV.	EpŠg{gg 

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II 	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV

		  Arrange the following steps in the correct sequence.
		  The four ecologically important steps of ecological succession. 
	 I.	 Nudation 
	 II.	 Migration 
	 III.	 Competition 
	 IV.	 Ecesis

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II 	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV

	 73.	 {ZåZ{b{IV MaUm| H$mo ghr AZwH«$_ _| ì`dpñWV H$a| & 

		  a~a {ZåZ{b{IV MaUm| _| ~Zm`m OmVm h¡ :

	 I.	Q>¡qnJ  	 II.	 ñ_moqH$J  	 III.	 X~mZm  	 IV.	 ñH§$XZ  
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV

		  Arrange the following steps in the correct sequence. 
		  Rubber preparation consists of the following steps :
	 I.	 Tapping 	 II.	 Smoking 	 III.	 Pressing 	 IV.	 Coagulation

	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV
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	 74.	 {ZåZ{b{IV MaUm| H$mo ghr AZwH«$_ _| ì`dpñWV H$a| & 
	 I.	ãboŠgbr Ûmam H$m¡ëMrgrZ Ûmam ~hþJw{UVm H$m àdV©Z 
	 II.	dmQ>gZ Ed§ {H«$H$ Ûmam S>r.EZ.E. H$m AmU{dH$ _m°S>b
	 III.	hooOoO Ed§ O¡H$~ Ûmam Q´>m±gnmoOmZ eãX à{Vnm{XV H$aZm 
	 IV.	{H«$H$ Ûmam AmU{dH$ Ord {dkmZ Ho$ goÝQ´>b S>mo½_m H$mo àñVm{dV H$aZm 
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV
		  Arrange the following steps in the correct sequence. 
	 I.	 Induction of polyploidy by colchicine by Blakslee 
	 II.	 Molecular model of DNA by Watson and Crick 
	 III.	 Term transposon coined by Hedges and Jacob
	 IV.	 Central dogma of molecular biology proposed by Crick
	 (A)	 I, II, IV, III	 (B)	 I, IV, III, II	 (C)	 II, III, IV, I 	 (D)	 I, III, II, IV

	 75.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : AmH$s©~¡ŠQ>r[a`m AË`{YH$ n`m©daUr` n[apñW{V`m| _| Or{dV ahZo _| gj_ hmoVo h¢ & 
		  VH©$ (R) : CZHo$ H$mo{eH$m {^{Îm`m| _| noßQ>mBS>mo½bmBH$Z nm`m OmVm h¡ & 
		  ghr {dH$ën MwZ| : 
	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡  
	 (B)	(A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡
	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡ 
	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡ 
		  Given below are two statements, one is labeled as Assertion (A) and other as Reason (R). 
		  Assertion (A) : Archaebacteria are capable of thriving in extreme environmental conditions. 
		  Reason (R) : Their cell walls are composed of peptidoglycans. 
		  Choose the correct option : 
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
	 (C)	 (A) is correct, but (R) is not correct 
	 (D)	 (A) is not correct, but (R) is correct

	 76.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &
		  A{^H$WZ (A) : Enmo{_pŠgg {S>ßbm°̀ S> nm¡Ym| H$s VwbZm _| nm°brßbm°̀ S> nm¡Ym| _| A{YH$ Am_ ~mV h¡ & 
		  VH©$ (R) : `h gm_mÝ` Ab¢{JH$ àOZZ Ho$ ñWmZ na b¢{JH$ àOZZ H$mo g§X{^©V H$aVm h¡ &
		  ghr {dH$ën MwZ| : 
	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 
	 (B)	(A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡
	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡ 
	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡ 
		  Given below are two statements, one is labeled as Assertion (A) and other as Reason (R).
		  Assertion (A) : Apomixis is more common in polyploids than diploid plants.
		  Reason (R) : It refers to the substitution of the usual asexual reproduction by a form of sexual reproduction. 
		  Choose the correct option : 
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A) 
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
	 (C)	 (A) is correct, but (R) is not correct 
	 (D)	 (A) is not correct, but (R) is correct
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	 77.	 {ZåZ{b{IV H$WZm| H$mo Ü`mZ go n‹T>o§ :

	 a.	AmoamBµOm gQ>mBdm EH$ nwamZr {díd àOm{V h¡ & 

	 b.	 µOr`m _¡O EH$ ZB© {díd àOm{V h¡ & 

	 c.	~m±g H$s CËn{Îm Ho$ÝÐ MrZ h¡ &

	 d.	nmBZEnb EH$ nwamZr {díd àOm{V h¡ &
		  ghr {dH$ën MwZ| :

	 (A)	Ho$db a, b, c 			   (B)	 Ho$db a, b, d

	 (C)	Ho$db b, c, d 			   (D)	 Ho$db a, c, d 

	 	 Read the following statements carefully : 

	 a.	 Oryza sativa is an old world species.

	 b.	 Zea mays is a new world species.

	 c.	 The origin center of bamboo is China. 

	 d.	 Pineapple is an old world species.
		  Choose the correct option : 

	 (A)	 Only a, b, c 			   (B)	 Only a, b, d 

	 (C)	 Only b, c, d			   (D)	 Only a, c, d

	 78.	 gyMr – I H$m gyMr – II go {_bmZ H$a| & 

	 	 gyMr – I		  gyMr – II 

	 a.	 Ý`yŠbr`mogmo_ 		  i.	 Q>çy~w{bZ AUwAm| H$m g_m`moOZ  
	 b.	 Eg.E.Ama. 		  ii.	 {hñQ>moZ Ho$ Mmam| Amoa {bnQ>m hþAm 147 bp S>r.EZ.E. 
	 c.	 Q>mD$ 		  iii.	 ATPase J{V{d{Y  
	 d.	 S>m`{ZZ-1 		  iv.	 H«$mo_¡{Q>Z H$mo Ho$ÝÐH$ _¡{Q´>Šg go Omo‹S>Zm  

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
		  Hy$Q> :
	 (A)	 a – i, b – ii, c – iii, d – iv 			   (B)	 a – ii, b – i, c – iv, d – iii 
	 (C)	 a – iv, b – ii, c – iii, d – i			   (D)	 a – ii,  b – iv, c – i, d – iii

		  Match List – I with List – II. 
		  List – I		L  ist – II 
	 a.	 Nucleosome		  i.	 assembly of tubulin molecules 
	 b.	 SAR 		  ii.	 147 bp DNA wrapped around histones
	 c.	 tau 		  iii.	 ATPase activity 
	 d.	 Dynein-1 		  iv.	 Anchor chromatin to nuclear matrix

		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 a – i, b – ii, c – iii, d – iv 			   (B)	 a – ii, b – i, c – iv, d – iii 
	 (C)	 a – iv, b – ii, c – iii, d – i			   (D)	 a – ii,  b – iv, c – i, d – iii
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	 79.	 H$WZ – 1 : ‘Ras’ EH$ N>moQ>m ‘GTPase’ h¡, Omo H$mo{eH$m _| RTKs go Ho$ÝÐH$ VH$ {g½Zb nhþ±MmZo _| _XX H$aVm h¡ {Oggo 
H$mo{eH$m d¥{Õ Am¡a {d^oXZ hmoVm h¡ &   

		  $H$WZ – 2 : ‘Ran’ EH$ N>moQ>m ‘GTPase’ h¡, Omo H$mo{eH$m Ho$ A§XéZr n[adhZ Ho$ Xm¡amZ do{gH$b n[aMmbZ Am¡a 
EŠgmogmBQ>mo{gg H$mo {Z`§{ÌV H$aVm h¡ & 

		  ghr {dH$ën MwZ| : 

	 (A)	XmoZm| H$WZ ghr h¢ 			 

	 (B)	XmoZm| H$WZ JbV h¢ 

	 (C)	H$WZ 1 JbV h¡ Am¡a H$WZ 2 ghr h¡  	

	 (D)	H$WZ 1 ghr h¡ Am¡a H$WZ 2 JbV h¡

	 	 Statement 1 : ‘Ras’ is a small ‘GTPase’ involved in transmitting signals from RTKs to the nucleus in the 
cell leading to cell proliferation and differentiation. 

	 	 Statement 2 :  ‘Ran’ is a small ‘GTPase’ that regulates vesicle trafficking and exocytosis during intracellular 
transport. 

		  Choose the correct option : 

	 (A)	 Both statements are correct 

	 (B)	 Both statements are incorrect 

	 (C)	 Statement 1 is incorrect and statement 2 is correct 

	 (D)	 Statement 1 is correct and statement 2 is incorrect

	 80.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : ßbmÁ_m _oå~«oZ M`ZmË_H$ ê$n go nmaJå` hmoVr h¡ Š`y§{H$ Bg_| B§Q>rJ«b àmoQ>rZ hmoVo h¢ Omo nXmWm] H$s 
J{V H$mo {Z`§{ÌV H$aVm h¡ &  

		  VH©$ (R) : B§Q>rJ«b àmoQ>rZ ßbmÁ_m _oå~«oZ _| g_m{hV hmoVo h¢ Am¡a g^r AUwAm| H$mo Mmho CZH$m AmH$ma Am¡a Amdoe 
Hw$N> ^r hmo, ñdV§Ì ê$n go nm[aV hmoZo H$s AZw_{V XoVo h¢ & 

		  ghr {dH$ën MwZ| &
	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡ 
	 (B)	(A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡
	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡ 
	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡

		  Given below are two statements, one is labeled as Assertion (A) and other as Reason (R). 
		  Assertion (A) : Plasma membrane is selectively permeable due to the presence of integral proteins that 

regulate the movement of substances. 
		  Reason (R) : Integral proteins are embedded in the plasma membrane and allow all the molecules 

regardless of size and charge to pass freely.
		  Choose the correct option.
	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A) 
	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
	 (C)	 (A) is correct, but (R) is incorrect 
	 (D)	 (A) is incorrect, but (R) is correct
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	 81.	 gyMr - I go gyMr - II H$m {_bmZ H$a| &

		  gyMr – I		  gyMr – II

	 a.	 pñ\¨$Jmo{gZ	 i.	 EH$ 18-H$m~©Z A_rZmo-AëH$mohb, EH$ Ag§V¥ßV hmBS´>moH$m~©Z ûm¥§Ibm Ho$ 
gmW S>m`mob

	 b.	 nr.EM.dmB©. OrZ	 ii.	 dU©H$ \$mBQ>moH«$mo_ Ho$ EnmoàmoQ>rZ H$mo Hy$Q>~X²Y H$aZm 

	 c.	 nr.gr.S>r.	 iii.	 EnmoßQ>m°{gg

	 d.	 E_.dmB©.~r. àmoQ>rÝg	 iv.	 à{VboIZ H$maH$

	 	 ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
	 	 Hy$Q> :
	 (A)	 a – i, b – ii, c – iii, d – iv			   (B)	 a – ii, b – i, c – iv, d – iii

	 (C)	 a – iv, b – iii, c – ii, d – i			   (D)	 a – iii, b – iv, c – i, d – ii

		  Match List – I with List – II.

		L  ist – I		L  ist – II

	 a.	 Sphingosine	 i.	 an 18-C amino-alcohol, a diol with an unsaturated hydrocarbon chain

	 b.	 PHY Gene	 ii.	 Encodes apoprotein of the pigment phytochrome

	 c.	 PCD	 iii.	 Apoptosis

	 d.	 MYB proteins	 iv.	 Transcription factor

		  Choose the correct answer from the code given below.

		  Code :
	 (A)	 a – i, b – ii, c – iii, d – iv			   (B)	 a – ii, b – i, c – iv, d – iii
	 (C)	 a – iv, b – iii, c – ii, d – i			   (D)	 a – iii, b – iv, c – i, d – ii

	 82.	 Na/Ca ApëOZoQ> go T>§Ho$ emar[aH$ ^«yUm| H$mo Š`m Zht H$hm OmVm h¡ ?

	 (A)	T>§Ho$ hþE ~rO			   (B)	 H¥${Ì_ ~rO	

	 (C)	a{MV ~rO			   (D)	 ŠbmoÁS> ~rO
		  The somatic embryos covered with Na/Ca alginate are not characterized as

	 (A)	 Encapsulated seeds	 	 	 (B)	 Artificial seeds	

	 (C)	 Synthetic seeds			   (D)	 Closed seeds

	 83.	 {ZåZ{b{IV _| go H$m¡Z-gm {dH$ën gmo_mŠbmoZb {^ÝZVm H$m CXmhaU Zhr§ h¡ ?

	 (A)	~m`mo-13			   (B)	 gwna Q>_mQ>a	

	 (C)	Am°ŠgboQ> a{hV H$aZm			   (D)	 Q>mon¡Q>mo
		  Which of the following option is not an example of somaclonal variation ? 
	 (A)	 Bio-13			   (B)	 Super tomatoes	
	 (C)	 Oxalate removal			   (D)	 Topato
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	 84.	 gyMr - I go gyMr - II H$m {_bmZ H$a| &

		  gyMr – I	 	 gyMr – II

	 a.	 Z_yZo Ho$ ^rVa	 i.	 {~ÝXw {d{dYVm

	 b.	 Amdmg Ho$ ^rVa	 ii.	 Aë\$m {d{dYVm 

	 c.	 Xmo Amdmgm| Ho$ ~rM	 iii.	 ~rQ>m {d{dYVm

	 d.	 Xmo n[aÑí`m| Ho$ ~rM 	 iv.	 S>oëQ>m {d{dYVm

		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &

		  Hy$Q> :
	 (A)	 a – i, b – ii, c – iii, d – iv			   (B)	 a – ii, b – i, c – iv, d – iii

	 (C)	 a – iii, b – ii, c – i, d – iv			   (D)	 a – iv, b – iii, c – i, d – ii

		  Match List – I with List – II.
		L  ist – I		L  ist – II

	 a.	 Within sample	 i.	 Point diversity

	 b.	 Within habitat	 ii.	 Alpha diversity

	 c.	 Between two habitats	 iii.	 Beta diversity

	 d.	 Between two landscapes	 iv.	 Delta diversity

		  Choose the correct answer from the code given below.

		  Code :

	 (A)	 a – i, b – ii, c – iii, d – iv			   (B)	 a – ii, b – i, c – iv, d – iii

	 (C)	 a – iii, b – ii, c – i, d – iv			   (D)	 a – iv, b – iii, c – i, d – ii

	 85.	 CËn[adV©Z Ho$ g§~§Y _| ghr CÎma MwZo§ &

	 (A)	_moZmoßbm°`S> Ordm| _| Aà^mdr CËn[adV©Z Am¡a à_wI CËn[adV©Zm| H$mo nhMmZm Om gH$Vm h¡

	 (B)	{S>ßbm°`S> Ordmo _| Aà^mdr CËn[adV©Z H$mo Ho$db V^r nhMmZm Om gH$Vm h¡ O~ g_`w½_H$ pñW{V _| _m¡OyX hmo

	 (C)	{S>ßbm°`S> _| A{YH$m§e Aà^mdr CËn[adV©Z Ho$db {df_`w½_ pñW{V _| _m¡OyX hmoZo na nhMmZo Om gH$Vo h¢

	 (D)	{b§J go Ow‹S>o Aà^mdr KmVH$ CËn[adV©Z, {b§J AZwnmV H$mo ~Xb gH$Vo h¢

		  Regarding mutation, select the correct answer. 

	(A)	 In monoploid organisms, recessive mutations and dominant mutations may be recognized

	(B)	 In diploid organisms, recessive mutations can be recognized only when present in the 
homozygous conditions

	(C)	 In diploids, most recessive mutations can be recognized only when present in the heterozygous 
condition

	(D)	 Sex-linked recessive lethal mutations may change the sex ratio



	 -26-	 71

	 86.	 {H$g àOm{V Ho$ VZ| _| AmYma Ho$ nmg Am¡a erf© na EH$ g§dhZr Z{bH$m Wr, bo{H$Z AmYma Am¡a erf© Ho$ ~rM 5-7 
g§dhZr Z{bH$m Wm ?

	 (A)	{Zn¡ZmoµOmBbm°Z JwßVmB©			   (B)	 {Zn¡{Z`mo{\$b_ amoB©

	 (C)	H$m°Zm}H$moZmBQ²>g b¡Šg_			   (D)	 gmh{Z`m ZmBnm{ZEpÝgg
		  Which species’ stem had a single vascular cylinder near the base and at the apex, but had 5-7 

between the base and apex ?
	 (A)	 Nipanoxylon guptai			   (B)	 Nipaniophyllum raoi
	 (C)	 Cornoconites laxum			   (D)	 Sahnia nipaniensis

	 87.	 gmBHo$S>oëg H$m {ZåZ{b{IV _| go H$m¡Z-gm gXñ` g~go N>moQ>r n{Îm`m| H$m à{V{Z{YËd H$aVm h¡ ?
	 (A)	S>m`moZ ñnmB©Zwbmog_	 (B)	 µOm{_`m {np½_`m	 (C)	 µOm{_`m nw{_bm	 (D)	 µOm{_`m âbmo[aS>mZm

		  Which of the following member of cycadales represent the smallest leaves ? 
	 (A)	 Diaon spinulosum	 (B)	 Zamia pygmea	 (C)	 Zamia pumila	 (D)	 Zamia floridana

	 88.	 O¡d{d{dYVm na gå_obZ Ho$ CÔoí`m| Ho$ {bE C{MV {dH$ën Š`m h¡ ?
	 (A)	O¡d{d{dYVm H$m g§ajU Am¡a gVV Cn`moJ
	 (B)	O¡d{d{dYVm H$m g§ajU Am¡a BgHo$ bm^m| H$m {Zînj ~§Q>dmam
	 (C)	O¡d{d{dYVm Ho$ bm^m| H$m gVV Cn`moJ Ed§ {Zînj ~§Q>dmam
	 (D)	O¡d{d{dYVm H$m g§ajU, gVV Cn`moJ Ed§ BgHo$ bm^m| H$m {Zînj ~§Q>dmam

		  Which is the best option to describe the aims of connection of Biodiversity ?
	 (A)	 Conservation and sustainable use of biodiversity
	 (B)	 Conservation of biodiversity and fair sharing of its benefits
	 (C)	 Sustainable use and fair sharing of benefits of biodiversity
	 (D)	 Conservation, sustainable use and fair sharing of its benefits of biodiversity

	 89.	 H$WZ  I : Imbr ñWmZ n[aH$ënZm AmH«$_UH$m[a`m| Ho$ ê$n _| àOm{V`m| H$s g\$bVm H$s ì`m»`m H$aVr h¡ &
		  H$WZ  II : ZdrZ h{W`ma n[aH$ënZm AmH«$_U à{H«$`m Ho$ {bE Xþí_Zm| H$s [ahmB© H$s ì`m»`m H$aVr h¡ &
		  ghr {dH$ën MwZ| :
	 (A)	H$WZ I JbV h¡, naÝVw H$WZ II ghr h¡
	 (B)	H$WZ I ghr h¡, naÝVw H$WZ II JbV h¡
	 (C)	XmoZm| H$WZ gË` h¢
	 (D)	XmoZm| H$WZ JbV h¢
		  Statement I : The empty Niche hypothesis explains the success of species as invaders.

		  Statement II : The novel weapons hypothesis explains the release of enemies for the invasion 
process.

		  Choose the correct option :
	 (A)	 Statement I is incorrect, but Statement II is correct
	 (B)	 Statement I is correct, but Statement II is incorrect
	 (C)	 Both Statements are correct
	 (D)	 Both Statements are incorrect
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	 90.	 gVV {dH$mg H$s AdYmaUm H$mo dU©Z H$aZo dmbr ghr {dH$ën H$m M`Z H$a| &

	 (A)	Am{W©H$, gm_m{OH$, n`m©daU		 (B)	 em§{V, gwajm, n`m©daU

	 (C)	Am{W©H$, gwajm, n`m©daU			   (D)	Am{W©H$, gm_m{OH$, gwajm

		  Select the correct option for describing the concept of sustainable development.

	 (A)	 Economic, Social, Environment	 (B)	 Peace, Security, Environment 

	 (C)	 Economic, Security, Environment	 (D)	 Economic, Social, Security

	 91.	 {ZåZ{b{IV _| go H$m¡Z-gm H$WZ "bm°{OpñQ>H$ J«moW _m°S>b' go g§~§{YV h¡ ?

		  bm°{OpñQ>H$ J«moW g_rH$aU {ZåZdV h¡ :

		

dN

dt
rN

N

K
= −







1

	 a.	O~ N = K hmoVm h¡, V~ OZg§»`m d¥{Õ Xa A{YH$V_ hmoJm &

	 b.	O¡go O¡go N, K H$s Va\$ ~‹T>oJm, OZg§»`m d¥{Õ Xa KQ>oJr &

	 c.	`{X N > K hmoVm h¡, V~ OZg§»`m KQ>oJr &

	 d.	K dmVmdaU Ûmam A{YH$V_ OZg§»`m YmaU H$aZo H$s j_Vm Xem©Vm h¡ & 
	 (A)	Ho$db a			   (B)	 Ho$db d Am¡a c
	 (C)	Ho$db b Am¡a c			   (D)	 Ho$db b, c Am¡a d

		  Which of the following statement is related with the ‘logistic growth model’ ?
		  The logistic growth equation is as follows :

	 	

dN

dt
rN

N

K
= −







1

	 a.	 Population growth rate is higher when N = K.

	 b.	 Population growth rate decreases as N approaches K.

	 c.	 If N > K, the population will decline.

	 d.	 K represents the maximum number of individuals the environment can support.

	 (A)	 Only a			   (B)	 Only d and c

	 (C)	 Only b and c			   (D)	 Only b, c and d

	 92.	 AmU{dH$ ñVa na nm¡Ym| _| amoJOZH$m| Ho$ {Ibm\$ g~go nhbo g{H«$` hmoZo dmbr à{VamoYH$ à{H«$`m H$m¡Z-gr h¡ ?

	 (A)	hmBnagopÝg{Q>{dQ>r [añnm°Ýg			   (B)	 nmXn hma_moZb [añnm°Ýg

	 (C)	Am°pŠgS>o{Q>d {dñ\$moQ>			   (D)	 H«$mo_¡{Q>Z nwZgª`moOZ

		  At the molecular level, which is the earliest response activated in plants against pathogens ?

	 (A)	 Hypersensitivity response		  (B)	 Phytohormonal response

	 (C)	 Oxidative burst			   (D)	 Chromatin remodelling
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	 93.	 nmXn H$mo{eH$mAm| _| amoJ à{VamoYH$ à{V{H«$`m Ho$ Xm¡amZ {gñQ>o{_H$ AŠdm`S>© ao{gñQ>|g (SAR) Ho$ {bE H$m¡Z-gm agm`Z 
CÎmaXm`r h¡ ?

	 (A)	g¡{b{g{bH$ Aåb			   (B)	 Epãg{gH$ Aåb

	 (C)	BWmBbrZ			   (D)	 {O~ao{bZ
		  Which chemical is responsible for eliciting Systemic Acquired Response (SAR) during plant’s infection ?
	 (A)	 Salicylic acid			   (B)	 Abscisic acid
	 (C)	 Ethylene			   (D)	 Gibberellin

	 94.	 H$m¡Z-gm H$mo{eH$m§J {Û-{Pëbr dmbm hmoVm h¡ Am¡a AY©-ñdm`Îm à{VH¥${V Am¡a _mV¥ d§emZwJ{V go Ow‹S>m hmoVm h¡ ?

	 (A)	ŠbmoamoßbmñQ>	 (B)	 bmBgmogmo_	 (C)	 noamŠgrgmo_	 (D)	 E§S>mogmo_
	 	 Which cellular organelle has a dual-membrane and is associated with semi-autosomal replication and 

maternal inheritance ?
	 (A)	 Chloroplast	 (B)	 Lysosome	 (C)	 Peroxisome	 (D)	 Endosome

	 95.	 BZ-{dQ´>mo gyú_ g§dY©Z Ho$ {ZåZ{b{IV bm^ h¡

	 a.	n[adV©ZerbVm H$s gr_m

	 b.	gmb ^a CnbãYVm

	 c.	EŠñßbm§Q> H$m N>moQ>m AmH$ma

	 d.	amoJ_wŠV àOZH$mo§ H$m CËnmXZ

	 (A)	Ho$db a, b, d	 (B)	 Ho$db b, c, d	 (C)	 Ho$db a Am¡a c	 (D)	 Ho$db a Am¡a b
	 	 In-vitro micropropagation has following advantages 
	 a.	 Range of variability
	 b.	 Year-around availability
	 c.	 Small size of explants
	 d.	 Production of disease-free propagules
	 (A)	 Only a, b, d	 (B)	 Only b, c, d	 (C)	 Only a and c	 (D)	 Only a and b

	 96.	 h¡ßbm°`S> CËnmXZ Ho$ {bE {ZåZ{b{IV _| go Š`m Amdí`H$ h¢ ?
	 a.	Aà^mdr CËn[adV©Z H$s àË`j ñH«$s{Z§J
	 b.	JwUgyÌm| H$mo Xmo JwZm H$aZo Ho$ ~mX hmo_moµOmBJg {ÛnXr nm¡Ym| H$m CËnmXZ
	 c.	amoJ à{VamoYH$ Am¡a loîR> {ÛnXr n§pŠV`m| H$m {dH$mg
	 d.	~hþnXr H$s àoaUmOZZ
	 (A)	Ho$db a, b, d	 (B)	 Ho$db a, b, c	 (C)	 Ho$db a, c, d	 (D)	 Ho$db b Am¡a c

		  Which of the following are necessary for Haploid production ?
	 a.	 Direct screening of recessive mutation
	 b.	 Production of homozygous diploid plants following chromosome doubling
	 c.	 Developing disease resistant and superior diploid lines
	 d.	 Induction of polyploidy

	 (A)	 Only a, b, d	 (B)	 Only a, b, c	 (C)	 Only a, c, d	 (D)	 Only b and c
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	 97.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : Q´>mBH$moJmBZ ~¡{g{S>`mo_mBH$moQ>m H$s {d{eîQ>Vm h¡ &

		  VH©$ (R) : Q´>mBH$moJmBZ H$m H$m`© {ZfoMZ Ho$ Xm¡amZ Za `w½_H$m| H$mo nH$‹S>Zm Am¡a àmßV H$aZm h¡ &

		  ghr {dH$ën MwZ| &
	 (A)	(A) Am¡a (R) XmoZm| ghr h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡

	 (B)	(A) Am¡a (R) XmoZm| ghr h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zhr§ h¡

	 (C)	(A) ghr h¡, naÝVw (R) JbV h¡

	 (D)	(A) JbV h¡, naÝVw (R) ghr h¡>

	 	 Given below are two statements, one is labelled as Assertion (A) and other as Reason (R). 

		  Assertion (A) : Trichogyne is the characteristic feature of Basidiomycota.

		  Reason (R) : The function of Trichogyne  is to capture and receive male gametes during fertilization.

		  Choose the correct option.

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

	 (C)	 (A) is correct, but (R) is incorrect

	 (D)	 (A) is incorrect, but (R) is correct

	 98.	 ZrMo Xmo H$WZ {XE JE h¢, EH$ H$mo A{^H$WZ (A) Am¡a Xÿgao H$mo VH©$ (R) H$hm J`m h¡ &

		  A{^H$WZ (A) : noarZmoñnmoam {S>ñQ´>ŠQ>a ß`mO Ho$ S>mCZr {_ëS>çy ~r_mar/amoJ> H$m H$maH$ h¡ &

		  VH©$ (R) : Bg amoJOZH$ H$mo AmgmZr go à`moJembm _| g§d{Y©V {H$`m Om gH$Vm h¡ &

		  ghr {dH$ën MwZ| &

	 (A)	(A) Am¡a (R) XmoZm| gË` h¢ Am¡a (R), (A) H$s ghr ì`m»`m h¡

	 (B)	(A) Am¡a (R) XmoZm| gË` h¢ naÝVw (R), (A) H$s ghr ì`m»`m Zht h¡

	 (C)	(A) JbV h¡ naÝVw (R) ghr h¡

	 (D)	(A) ghr h¡ naÝVw (R) JbV h¡>
	 	 Given below are two statements, one is labelled as Assertion (A) and other as Reason (R). 

	 	 Assertion (A) : Peronospora destructor causes downy mildew disease of onion.
		  Reason (R) : This pathogen can be easily cultured in laboratory.

		  Choose the correct option.

	 (A)	 Both (A) and (R) are correct and (R) is the correct explanation of (A)

	 (B)	 Both (A) and (R) are correct, but (R) is incorrect explanation of (A)

	 (C)	 (A) is incorrect, but (R) is correct

	 (D)	 (A) is correct, but (R) is incorrect
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	 99.	 gyMr – I H$m gyMr – II go {_bmZ H$a| &
	 	gyMr – I				    gyMr – II
	 a.	 ZmBOobm	 i.	 amV amZr
	 b.	 ë`yHo$Zm ë`yH$moâbmo`m	 ii.	 bd-BZ-E {_ñQ>
	 c.	 ho{b{H«$g_ ~«¡ŠQ>rQ>_	 iii.	 g\o$X nmo{nZm
	 d.	 goñQ´>_ ZmŠQ>Z©_	 iv.	 nona nwîn
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
	 	 Hy$Q> :
	 (A)	 a – iii, b – iv, c – ii, d – i			   (B)	 a – ii, b – iii, c – iv, d – i
	 (C)	 a – i, b – iii, c – iv, d – ii			   (D)	 a – i, b – iv, c – iii, d – ii
		  Match List – I with List – II.
		L  ist – I		L  ist – II
	 a.	 Nigella		  i.	 Night Jasmine
	 b.	 Leucaena leucophloea		  ii.	 Love-in-a mist
	 c.	 Helichrysum bracteatum		  iii.	 White popina
	 d.	 Cestrum nocturnum	 	 iv.	 Paper flower
		  Choose the correct answer from the code given below.
		  Code :
	 (A)	 a – iii, b – iv, c – ii, d – i			   (B)	 a – ii, b – iii, c – iv, d – i
	 (C)	 a – i, b – iii, c – iv, d – ii			   (D)	 a – i, b – iv, c – iii, d – ii

	100.	 gyMr – I  go gyMr – II H$m {_bmZ H$a| &
	 	 gyMr – I	 gyMr – II

	 a.	 gm`ZmB©S>	 I.	 K+ Am`Zmo\$moa
	 b.	 Am°amd{Q>©Z	 II.	 cyt b go cyt c _| BboŠQ´>m°Z Q´>mÝg\$a
	 c.	 do{bZmo_m`{gZ	 III.	 ATP {g§WoO H$s F1 g~`y{ZQ>
	 d.	 E§Q>r_m`{gZ E	 IV.	 gmBQ>moH«$mo_ Am°pŠgS>oO
		  ZrMo {XE JE Hy$Q> _| go ghr CÎma Mw{ZE &
	 	 Hy$Q> :
	 (A)	 a – I, b – III, c – IV, d – II			   (B)	 a – I, b – II, c – III, d – IV
	 (C)	 a – IV, b – II, c – I, d – III			   (D)	 a – IV, b – III, c – I, d – II
		  Match List – I with List – II.
		L  ist – I	L ist – II
	 a.	 Cyanide	 I.	 K+ ionophore
	 b.	 Auravertin	 II.	 Electron transfer from cyt b to cyt c
	 c.	 Valinomycin	 III.	 F1 subunit of ATP synthase
	 d.	 Antimycin A	 IV.	 Cytochrome oxidase
		  Choose the correct answer from the code given below.
	 	 Code :
	 (A)	 a – I, b – III, c – IV, d – II			   (B)	 a – I, b – II, c – III, d – IV
	 (C)	 a – IV, b – II, c – I, d – III			   (D)	 a – IV, b – III, c – I, d – II
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	 7.	 The candidate must write his/her roll number, subject, correct question paper code, number of answered questions 

and number of unanswered questions neatly on the Answer Sheet (OMR Sheet), otherwise the Answer Sheet will 
not be evaluated and the entire responsibility will be of the candidate himself/herself.

	 8.	 The candidate has to darken only one circle or bubble indicating the correct answer on the OMR sheet using  
black ball point pen only. If more than one answers are marked, it would be treated as wrong answer and it will not 
be evaluated.

	 9.	 Once answer is marked in the Answer Sheet (OMR Sheet), no change is permitted.
	 10.	 Candidate should not fold the Answer Sheet (OMR Sheet).
	 11.	 You are to mark your answers on Answer Sheet (OMR Sheet) only. When the examination is over, handover the 

Answer Sheet (OMR Sheet) to the Room Invigilator.
	 12.	 In case of any discrepancy between the Hindi and English versions, English version will be taken as final.
	 13.	 If any candidate uses or attempts to use unfair means or creates any disturbance in the examination hall, he/she will 

be disqualified from the examination.
	 14.	 No candidate will leave the examination hall until 120 minutes (two hours) are completed.
	 15.	 Rough work, if any, should be done on the blank sheets prescribed for this purpose only. No extra sheets will be 

provided.
	 16.	 Use only black ball point pen for writing your roll number etc. and for filling in the answers on the Answer Sheet 

(OMR Sheet).

Do  not  open this  Question  booklet  until  you  are  told  to  do  so.
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